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Note: (i) There are in all 30 questions in this question paper. All questions are compulsory.
(ii) The question paper consists of four Sections A, B, C and D. Section ‘A’ contains 8 questions
of 1 mark each, Section ‘B’ is of 10 questions of 2 marks each, Section ‘C” has 9 questions of
3 marks each, whereas Section ‘D’ is of 3 questions of 5 marks each.
(ili) Draw neat and labelled diagrams wherever necessary.
(iv) Start from the first question and proceed to the last. Do not waste time over a question, if you
can not solve it.

GUg — ‘3" (Section-‘A’)

|. e & o & § 7 1
What is the function of Acrosome ?

). ST (TOri) § o @ e § 7 1
What do you understand by Apogamy ?

3, SRE T g ? 1
What is operon ? .

4. SOREIST @Y ISEYY Afea aiRHEtd DI | 1
Define mutagen with example.

5. R & @ fas @ ? gHeT 9 @ g 7 1
Who discovered Penicillin ? What is its source 7

6. <11 By T & AR A B AT e R 7 1

What is Bt and how is it produced ?
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miRRefte a5 # 791 F7 iver W) T4 86T 8 7 1

What is the trophic level of man in an ecosystem ?

Wi YR & IER W wey nRRkefae 93 o fivfEs = 1

On the basis of Biomass, draw a pyramid of terrestrial ecosystem.
WUE — ‘d’ (Section-‘B’)
SRS Sgail § YT &1 guf 99 g e @l iR ¥ g & ? 2

How and where complete nutrition and development of embryo takes place in viviparous animals ?

g el urey 1 aeff BIfrnT | qOREET @ WA 241 a1 e AT F ot @ wen e

BT — Vixd =2
(@) va <o (@) «TeITY] Hg HIRT
(M) fafos s=s () yoriY

In a vegetative cell of a flowering plant, the number of chromosomes is 24. How many chromosomes
will be in the following parts —

(a) Petal (b) Spore mother cell

(¢) Secondary nucleus (d) Endosperm

durael fageryor @ar 3 ? HFd SEittiet § gqeT |y aner # ? 2
What is pedigree analysis ? What is its role in human genetics ?

gferalt @ wfos & 9= favg @i | 2

'Differentiate between Antibody and Antigen.

WEIegR @ Sias o H et & 5 o 3 e geand a1t & 2 w9R & of 9 oy

&1 = S| Yoxd =2
(@) <ifree o= (@) Hfewr sawen
(1) gTi S (@) ErteT @1 fEfr

In which parts of the body of the hosts do the following events in the life cycle of plasmodium takes
place 7 Name both, body parts and the host.

(a) Sexual reproduction (b) Signet ring stage

(c) Gametogenesis (d) Formation of Haemozoin

HENCRI 9T 8 7 WHssy | 2
What is Metastasis 7 Explain. )

RIS g1 YISl & IS BT g% o w@al & 7 2
What is the major advantage of producing plants by micropropagation ?

it e fadiae aftawe SwaR @ <= Ul S arer g o g € 7 2
What is the key difference between primary and secondary sewage treatment ?

dfae Swr @1 aRAIRE I | 3fias Swr gfy & $1E <1 s i LI

Define Global Warming. Give any two causes of increasing global warming.
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. ' qiiRRfoe dd § e §id of 99y | 2

Explain food web in grassland ecosystem.

HUg — | (Section-*C")

(@) 79 % g fawr & w9a 979 arell yoia sameli @ =19 fofav | 1%
Write the name of embryonic membranes during the development of embryo in man,
(@) & gRuaa 401 DY &1 dae AHiFT fF F9E0 | 1%

Draw labelled diagram of mature embryo sac,

et sIfaeT @ @ fe @ ? frifafery St (Four *0” clock) & @ g arer i @
B g ATl 9§ B wwn | F 9§ wiEey g oieesy s w8 ?
HelEEREE HHHATRT | 3
Who discovered incomplete dominance ? In Mirabilis Jalapa (Four ‘O’ clock) red flower plant cross
with white flower plant. What will be the phenotype and genotype ratio in F, generation. Explain with
diagrammatic sketch ?

AT & I ORE SR & @ SR § ? e R Riegm @1 wesmey | 3

What are the causes of aberrations of sex chromosome in Human ? Explain Turner’s syndrome.
3127dT (OR)

xwﬁxw%%ﬁﬁmﬁmmmﬁﬁﬁm

Describe XY - XX type of sex determination.

ER—aaai RIgid @1 Seed Piferd | 3

Mention Hardy-Weinberg principle.

. frferas i &1 deRor S9 grar & — 1x3=3
How does the transmission of following diseases take place —

(@) st (@) TeBRET () g

Amoebiasis Ascariasis Pneumonia

; ﬁww%?%ﬁwﬁaﬁ%wﬁr@aﬁﬁaﬁmﬁmﬁmaﬂnmwﬁﬂﬁ
| wie fby e € | 3

What are enzymes ? Give name of any four enzymes which can produce from micro-organism by
using biotechnology process.

WS ST 3R TREg AT ¥ sFaw e @I |

Clarify the difference between Plasmid DNA and Chromosomal DNA ?

fad
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25.%%@%?%%&@@%%@%@1 3

What is Gene Therapy ? Explain with giving example of Adinosine deaminase deficiency.

1?,wﬁ$mmw,mwﬁﬁmWﬁﬁlmW| 3

Biofertilizers are more useful than chemical fertilizers for crops. Discuss.

44T (OR)
wﬁﬁﬁ(m)ﬁﬁ$§@ww%?wﬁﬁwﬁammmwwﬁ
87

What are the main characters of epiphytes ? What is the function of Velamen tissue in epiphytes ?
{U§ — T (Section-‘D’)
zs,g@mﬁagmmﬁﬁﬁamhﬁﬁﬂm 5
Explain microsporogenesis in flowering plants with the help of diagram.

3rerar (OR)
St freuer gRT A i YT SR TSI BT FHSSY |

Explain spermatogenesis and oogenesis in human diagramatically.

29, SroTT Y AREAT T Avi BT AR T e A | 5

Explain the structure of DNA and give its importance.
34Tl (OR)
mﬁaﬂﬂqﬁraﬁﬁﬁmm%?ﬁﬁmﬁquﬁ%?

What is the difference between Homologous and Analogous organs ? What is their importance in
Evolution ?

30. ﬁﬂﬁﬁﬂﬁﬁmﬁaﬁﬁ%m@l%ﬁﬁaﬁﬁwaﬁﬁmﬁmmmﬁv?ﬁf

DI | 5

Name the important components of Biodiversity. Why should we conserve Biodiversity ? Discuss.
3IdT (OR)

ey v ifere feupolt faRay — 2%t =35

() Trey wifertl @1 Rrgerar @ R
(@) e (59 Rig) weror
Write short note on the following —

(a) Reason for extinction of plant species
(b) In situ conservation
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